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BIEIR 1000 BROZE 1000 015 1000
FRE 1000 S0 500 RO 500
HEEm 500 Z=0& 500 Ao 1500
(TS 1500 =05 200 f O 500
MIETT 500 Ot 1000 =07 500
B 2 500 fROZ 1500 2015 100
PR T 500 07T 500 20% 500
TR 500 ZOF 500 =OZ 1000
2T 1000 BROTT 500 5RO 500
%ER 3000 =0 500 ZF04I 500
ERIE 200 SBEZEOH 500 [0} 1000
PR 7 12 500 EOK 1000 EOX®’ 1000
R 500 RO 500 =08 500




AR 500 SROED 1000 =0z 500
a1 i 500 5RO 200 RO 500
R 1500 FO&E 500 FAOEX 1000
MK 500 #OHR 500 o= 500
PR EF A 500 F0O1% 500 EOE 500
BEIS 200 BOE 1500 SROE 500
= A 1000 ={O]: 500 =054 500
PR 3an B% 500 PO 500 O 500
=51E 500 #Om 200 2|0 1500
2= 1000 e} 1000 #O%= 1000
o] R 500 MOZE 500 RO 1000
BEXE 1000 EROJE 1500 =0% 500
=538 500 HOFS 1000 BOZ& 500
RIS 500 FO&E 500 EOM 1000
S 500 RO 500 MO 500
PRI 1000 FEORE 1000 %015 500
=HAZS 1000 5RO 1500 1O 500
ME R 500 0% 500 EO%E 500
BRE 1000 RO 500 HOE 1000
HEE 500 HORR 1000 O 500
PRESR 1500 TOE 500 O 9000
FTE M 500 OMH 500 21015 500
BETF 500 F=0¥% 1000 SROE 1000
2 1000 EIOfS 500 AKOE=3 200
& T 500 HOf& 1000 =08 500
FTE R 500 FO¥ 500 O 500
K 500 REO=], 500 WHOES 1500
PR 1% R 500 =0tk 500 HORX 1000
BOZE 500 MO 500 =034 500
O 500 0= 500 7507 500
%03 500 ROE 1500 ZBOX 500
S TOZK 500 EOF 500 HOZE 1000
RO 500 ERO1B 1000 =018 500




HO=E 1500 MHOR 500 Y N@Y:: 500
=30} 500 HOE 1000 ROZE 500
5RO 500 FOH 1000 =0T 500
=07 300 Z0E 500 =01Z 500
1BO%E 500 Z0% 500 ZOA 500
=08 500 208k 500 Z0=2 500
HO#n 500 FO# 1000 OIS 500
HO1& 500 #EOFH 500 RO 500
MOYE 1000 ZIOHH 500 PROZR 1000
0%k 500 PROH 500 EOM 500
RO5 1500 70tk 500 MO8 500
FBOI% 1000 EO& 500 FFOTE 500
S O1f 500 TO%E 500 STOR 500
EI[OF= 500 =0 1000 RO 500
ZO& 500 RO®E 1000 BEOEZ 500
TOE 500 RO 500 FEO=E 500
{0 500 210 500 HOF 500
Z20E 500 PROY%E 500 =OM 500
RO 500 Ot 500 SROIA 500
#OM 500 £)015 500 =0k 500
RO 500 B0%H 500 PROE 1000
BRSO 500 “mom 1000 Z20% 200
PO 500 SBOfH 500 MOk 500
HORR 500 ZBORR 1500 20w 1500
S[O}:] 500 EOWR 500 HOHRR 1000
5018 500 fROH 1500 O 500
i @}=3 500 HO 1000 FO1= 500
20% 1000 O3 500 %O, 500
O 500 RO, 1000 NOE= 1500
BO%% 1000 fROF 1000 fROUN 500
=OX 500 =01 500 RO 500
ZOE 250 F8OZ5 500 BEOM, 500
EOR 500 BROR 500 FOBE 300




(EI[0F=3 1000 150 500 5RO 500
ROE 500 BROE 500 20X 500
ROM 500 ZOtE 1500 BROE 1000
HOZE 100 FO3e 1000 20fE 500
FO0& 1000 =OH 500 SROZE 500
RO 500 BOR 1000 FOHS 1500
FFOt= 500 CHANGOENN 500 EO% 500
0% 1000 HOE 500 O 500
ZOk 500 OF] 500 RO 500
BROZR 500 Z0F 500 20% 500
FOB 500 HOE 500 HORE 300
PROF] 500 BEROJH 500 ZOBE 500
(0L 100 RO% 500 sAOMT 1000
RO 1500 FEOE 500 LE[OFS 200
RO 500 o] O5& 500 2O 500
FOH 500 EOFr 500 S TOM 500
FO= 1000 O 1000 PBRO# 1000
RO 500 HORE 500 I NOES 500
={OF: 500 EOE 500 2IOFF 500
RO% 500 EO&E 500 EQES 500

:{e) 1000 =0 500 7®oun 500
Eil{e)=2 1000 =0t 500 ERO#T 500
O 1000 RO% 500 Eife)= 1000
RO 500 FO1E 500 ROZN 500
a]OFA 500 HOZE 500 08 500
BOE 100 WO 500 BROX] 500
B0 500 F0% 500 RO 500
BOM 500 2107 500 FOiH 500
RO 500 O 200 HOM 500




